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for (i = @; i <= 15; ++i )
{
scanf("%d", &input 1[4 * 1], v20);
std: :vector<int,std::allocator<int>>::push_back(&v24, &input 1[4 * i]);
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for ( 7 =©; 7 <= 15; ++] )
{
LODWORD(input_begin) = fib(7j);
std: :vector<int,std::allocator<int>>::push_back(&fibs, &input begin);

}. .
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53 two_input_addr = __gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>::operator+(
54 &input begin.
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55 1LL);

56 |std::transform __gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>,std::back_insert_i
57 two_1input_addr,

58 input_end,

59 one_input_addr,

60 (__int64)input_1);

61 std::vector<int,std::allocator<int>>::vector(&v28, input_end, vil);

62 w12 = std::vector<int,std::allocator<int>>::end(&one_input);

63 w13 = std::vector<int,std::allocator<int>>::begin(&one_input);

64 |std::accumulate{__gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>,std::vector<int,s
65 —_1in input_begin,

66 v13,

67 vi2,

68 (__int64)&v2s,

69 v14,

70 v1s,
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if ( (unsigned ;_intB)std::operatorl=<int,std£:allb&ator<int>>((__int64)&input_encry, (__int64)&fibs) )

puts("You failed!™);
exit(e);
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fib 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144, 233, 377, 610, 987

for i in range(1,len(fib
print (fib[i]-fib[e
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for (1 =06; 1 <= 15; ++1i )
{
scanf("%d", &input 1[4 * 1], v20);
std: :vector<int,std::allocator<int>>::push_back(&v24, &input 1[4 * i]);
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for (] =0; j <= 15; ++] )

{
LODWORD(input_begin) = fib(j);
std::vector<int,std::allocator<int>>::push_back(&fibs, &input_begin);

}.
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14| v8 = a3;

15| v7 = a4;

16 v12 = __readfsqword(@x28u);

17 while ( (unsigned __int8)__gnu_cxx::operator!=<int *,std::vector<int,std::allocator<int>>>(&vie, &v9) )
18/ {

19 va = (unsigned int *)__gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>::operator*(
20 v1l = main:j{lambda(int)#1}::operator() const(&v7, *v4);

21 v5 = std::back_insert_iterator<std::vector<int,std::allocator<int>>>::operator*(&vg);

22 std: :back_insert_iterator<std::vector<int,std::allocator<int>>>::operator=(v5, &v11);

23 __gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>::operator++(&v18);

24 std: :back_insert_iterator<std::vector<int,std::allocator<int>>>: :operator++(&va);

25/ }

26 return vi;

27}

lamda

1__inté4 _ fastcall main::{lambda(int)#1}::operator() const(_DWORD **al, int a2)
2q{

3 return (unsigned int)(**al + a2);

4}
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__gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>::operator++(&vi1e);

std::back_insert_iterator<std::vector<int,std::allocator<int>>>::operator++(&vs);
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13 az;
14 3;
15 ;

16 v15 = _ readfsqword(@x28u);

17 while ( (unsigned __ int8)__gnu_cxx::operator!=<int *,std::vector<int,std::allocator<int>>>(&v11, &v10) )

Ll

18/ {
19 v7 = *(_DWORD *)__gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>::operator*(&vil);
20 std::vector<int,std::allocator<int>>::vector(&vl3, v9);
21 main: std::vector‘dnt,std::allocator‘<int>>,int)#z}::oper'ator() const(&vlsd, &a7, &v13, v7);
22 std::vector<int,std::allocator<int>>::operator=(vo, &v14);
i 23 std::vector<int,std::allocator<int>>: :~vector(&vid);
| ®24 std::vector<int,std::allocator<int>>::~vector(&vis);
25 __gnu_cxx::__normal_iterator<int *,std::vector<int,std::allocator<int>>>::operator++(&vil1);
26

27 std::vector<int,std::allocator<int>>::vector(vi2, v9);
28  return v12;
29}
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w3 Zlambda
15/ v8 = a4;
16 v12 = _ readfsqword(@x28u);

17 std::vector<int,std::allocator<int>>::vector(al, a2, a3);
18 std::vector<int,std::allocator<int>>::push_back(al, &v8);

19 v4 = std::back_inserter<std::vector<int,std::allocator<int>>>(vil);
20 v5 = std::vector<int,std::allocator<int>>::end(v9);
21 6 = std::vector<int,std::allocator<int>>::begin(v9);

22 std: _gnu_cxx: :__normal_iterator<int *,std::vector<int,std::allocator<int>>>,std: :back_insert_iterator<std::vector<int,std::al]
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] 2 5,
25 va);
26 return v1il;
27}
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fib i, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144, 233, 377, 610, 987
for i in range(1,len(fib

print (fib[i]-fib[®@
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